Math 109          Quiz 8          Answers         10/31/06
                                      2x - 1       x(3
1. Graph   g(x) =  
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                                         4           x>3
             I will do it in class.
2.  Find the intersection point of the graphs the following equations:    y = 2x + 3     y = -x + 5. 

                    (2/3,13/3)

3.  Suppose the total cost in dollars to produce x radios is 
          C(x) = 15x + 80,000.

        a. What is the cost to make 800 softballs?  $92,000
        b.  What is the average cost of making 800 softballs?  
                               $115           

        c.  What are the fixed costs?  $80,000
        d.  What is the marginal cost per softball? $15
        e.  If the revenue function is R(x) = 20x, what is the
             break-even point?        16,000           

4.  Draw a graph that is not a graph of function and explain how you know it is not the graph of a function.


Observe that a vertical line
hits the graph more than once.
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